

Congruences for sums involving Franel numbers

Zhi-Hong Sun

School of Mathematical Sciences
Huaiyin Normal University
Huaian, Jiangsu 223300, P.R. China
zhsun@hytc.edu.cn

Received 19 October 2016

Accepted 12 February 2017

Published 31 July 2017

Let $\{f_n\}$ be the Franel numbers given by $f_n = \sum_{k=0}^n \binom{n}{k}^3$, and let $p > 5$ be a prime. In this paper we mainly determine $\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{m^k} \pmod{p}$ for $m = 5, -16, 16, 32, -49, 50, 96$.

Keywords: Franel number; congruence.

Mathematics Subject Classification 2010: Primary 11A07, Secondary 11B83, 11E25, 05A10, 05A19

1. Introduction

In this paper we use the following notation. Let \mathbb{Z} be the set of integers, and for a prime p let \mathbb{Z}_p be the set of rational numbers whose denominator is not divisible by p . For positive integers a, b and n , if $n = ax^2 + by^2$ for some integers x and y , we briefly write that $n = ax^2 + by^2$. Let $[x]$ be the greatest integer not exceeding x , and let $\left(\frac{a}{p}\right)$ be the Jacobi symbol.

In 1894 J. Franel [9] introduced the Franel numbers

$$f_n = \sum_{k=0}^n \binom{n}{k}^3 \quad (n = 0, 1, 2, \dots)$$

and stated that

$$(n+1)^2 f_{n+1} = (7n^2 + 7n + 2)f_n + 8n^2 f_{n-1} \quad (n \geq 1).$$

The first few Franel numbers are listed below:

$$f_0 = 1, f_1 = 2, f_2 = 10, f_3 = 56, f_4 = 346, f_5 = 2252, \\ f_6 = 15184, f_7 = 104960, f_8 = 739162, f_9 = 5280932.$$

Let p be an odd prime. In [10], Guo proved that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-16)^k} \equiv 0 \pmod{p} \quad \text{for } p \equiv 3 \pmod{4}$$

and

$$\sum_{k=0}^{p-1} \frac{3k+1}{(-16)^k} \binom{2k}{k} f_k \equiv (-1)^{\frac{p-1}{2}} p \pmod{p^3},$$

where the two congruences modulo p^2 were conjectured by the author. We note that $p \mid \binom{2k}{k}$ for $k = \frac{p+1}{2}, \frac{p+3}{2}, \dots, p-1$. In [22,23], the author's brother Z.W. Sun investigated congruences for Franel numbers. In particular, he showed that for any odd prime p ,

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-4)^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^3}{16^k} \pmod{p^2}.$$

By [15, Theorems 3.3 and 3.4],

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k}^3}{16^k} \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1 \pmod{3} \text{ and so } p = x^2 + 3y^2, \\ 0 \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Thus,

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-4)^k} \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1 \pmod{3} \text{ and so } p = x^2 + 3y^2, \\ 0 \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

For any nonnegative integer n let

$$(1.1) \quad \begin{aligned} A_n &= \sum_{k=0}^n \binom{n}{k}^2 \binom{n+k}{k}^2, & a_n &= \sum_{k=0}^n \binom{n}{k}^2 \binom{2k}{k}, \\ D_n &= \sum_{k=0}^n \binom{2k}{k} \binom{2n-2k}{n-k} \binom{n}{k}^2. \end{aligned}$$

Here $\{A_n\}$ are called Apéry numbers since Apéry [1] used it to prove $\zeta(3)$ is irrational in 1979, and $\{D_n\}$ are called Domb numbers. See [2,4,6,7,24]. Such sequences appear as coefficients in various series for $1/\pi$. For example,

$$\sum_{k=0}^{\infty} \frac{9k+2}{50^k} \binom{2k}{k} f_k = \frac{25}{2\pi} \quad \text{and} \quad \sum_{k=0}^{\infty} \frac{5k+1}{64^k} D_k = \frac{8}{\sqrt{3}\pi}.$$

Let $p > 3$ be a prime, $m \in \mathbb{Z}_p$ and $m \not\equiv 0, -4, -8 \pmod{p}$. In this paper, we show that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{m}{(m+8)^2} \right)^k f_k \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{3k}{k} \left(\frac{m}{(m+4)^3} \right)^k \pmod{p}.$$

Let $x \in \mathbb{Z}_p$, $x \not\equiv 0, -1, -\frac{1}{3} \pmod{p}$ and $\left(\frac{9x^2+14x+9}{p}\right) = 1$. We also show that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{x}{9x^2+14x+9}\right)^k f_k \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{4k}{2k} \left(\frac{x}{9(1+3x)^4}\right)^k \pmod{p}.$$

As consequences we determine $\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{m^k} \pmod{p}$ for $m = 5, -16, 16, 32, -49, 50, 96$ and $\sum_{k=0}^{p-1} \binom{2k}{k} \frac{a_k}{4^k} \pmod{p}$. As examples, for any prime $p > 5$,

$$\begin{aligned} \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-16)^k} &\equiv 4x^2 \pmod{p} \quad \text{for } p = x^2 + 9y^2, \\ \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{16^k} &\equiv 4x^2 \pmod{p} \quad \text{for } p = x^2 + 5y^2, \\ \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{5^k} &\equiv 4x^2 \pmod{p} \quad \text{for } p = x^2 + 15y^2, \\ \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{32^k} &\equiv 4x^2 \pmod{p} \quad \text{for } p = x^2 + 6y^2. \end{aligned}$$

Let $p > 3$ be a prime and $u \in \mathbb{Z}_p$ with $u \not\equiv 0 \pmod{p}$. We show that

$$\begin{aligned} & - \left(\frac{p}{3}\right) \sum_{n=0}^{p-1} f_n \left(-\frac{1+3u}{4}\right)^n \\ & \equiv \sum_{x=0}^{p-1} \left(\frac{x^3 - 3u(u^3 + 6u + 2)x - (2u^6 - 30u^4 - 10u^3 - 9u^2 - 6u - 1)}{p}\right) \pmod{p}. \end{aligned}$$

We also prove that $\sum_{n=0}^{p-1} \frac{D_n}{4^n} \equiv 0 \pmod{p^2}$ for any prime $p \equiv 5 \pmod{6}$, and pose many conjectures concerning the sum $\sum_{k=0}^{p-1} \binom{2k}{k} f_k / m^k \pmod{p^2}$, where m is an integer not divisible by p .

2. Main results

Lemma 2.1 ([18, Lemma 2.4]). *Let p be an odd prime, $u, c_0, c_1, \dots, c_{p-1} \in \mathbb{Z}_p$ and $u \not\equiv 1 \pmod{p}$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2}\right)^k c_k \equiv \sum_{n=0}^{p-1} u^n \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} c_k \pmod{p}.$$

Proof. Note that $p \mid \binom{2k}{k}$ for $\frac{p}{2} < k < p$, $\binom{-x}{k} = (-1)^k \binom{x+k-1}{k}$ and $\binom{n}{k} \binom{n+k}{k} = \binom{2k}{k} \binom{n+k}{2k}$. Using Fermat's little theorem we deduce that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2}\right)^k c_k$$

$$\begin{aligned}
&\equiv \sum_{k=0}^{(p-1)/2} \binom{2k}{k} c_k u^k (1-u)^{p-1-2k} = \sum_{k=0}^{(p-1)/2} \binom{2k}{k} c_k u^k \sum_{r=0}^{p-1-2k} \binom{p-1-2k}{r} (-u)^r \\
&= \sum_{n=0}^{p-1} u^n \sum_{k=0}^n \binom{2k}{k} c_k (-1)^{n-k} \binom{p-1-2k}{n-k} = \sum_{n=0}^{p-1} u^n \sum_{k=0}^n \binom{2k}{k} c_k \binom{n+k-p}{n-k} \\
&\equiv \sum_{n=0}^{p-1} u^n \sum_{k=0}^n \binom{2k}{k} c_k \binom{n+k}{n-k} = \sum_{n=0}^{p-1} u^n \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} c_k \pmod{p}.
\end{aligned}$$

Thus the lemma is proved. \square

Lemma 2.2. *Let $p > 3$ be a prime and $c_0, c_1, \dots, c_{p-1} \in \mathbb{Z}_p$. Then*

$$\sum_{n=0}^{p-1} \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} c_k \equiv \sum_{k=0}^{p-1} \frac{p}{2k+1} (-1)^k c_k \pmod{p^3}.$$

Proof. Since

$$\begin{aligned}
\sum_{k=0}^m \binom{x}{k} (-1)^k &= \sum_{k=0}^m \binom{x-1}{k} (-1)^k + \sum_{k=1}^m \binom{x-1}{k-1} (-1)^k \\
&= \sum_{r=0}^m \binom{x-1}{r} (-1)^r - \sum_{r=0}^{m-1} \binom{x-1}{r} (-1)^r \\
&= \binom{x-1}{m} (-1)^m = \binom{m-x}{m}
\end{aligned}$$

and $\binom{n}{k} \binom{n+k}{k} = \binom{2k}{k} \binom{n+k}{2k}$ we see that

$$\begin{aligned}
&\sum_{n=0}^{p-1} \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} c_k \\
&= \sum_{k=0}^{p-1} \sum_{n=k}^{p-1} \binom{2k}{k} \binom{n+k}{2k} c_k = \sum_{k=0}^{p-1} \binom{2k}{k} c_k \sum_{r=0}^{p-1-k} \binom{2k+r}{2k} \\
&= \sum_{k=0}^{p-1} \binom{2k}{k} c_k \sum_{r=0}^{p-1-k} \binom{-2k-1}{r} (-1)^r = \sum_{k=0}^{p-1} \binom{2k}{k} c_k \binom{p+k}{p-1-k} \\
&= \sum_{k=0}^{p-1} \binom{2k}{k} c_k \binom{p+k}{2k+1} = \sum_{k=0}^{p-1} \frac{p}{2k+1} c_k \frac{(p^2-1^2) \cdots (p^2-k^2)}{k!^2}.
\end{aligned}$$

Thus,

$$\begin{aligned}
& \sum_{n=0}^{p-1} \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} c_k \\
&= \frac{(p^2-1^2) \cdots (p^2 - (\frac{p-1}{2})^2)}{(\frac{p-1}{2})!^2} c_{\frac{p-1}{2}} + p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{c_k}{2k+1} \cdot \frac{(p^2-1^2) \cdots (p^2-k^2)}{k!^2} \\
&\equiv (-1)^{\frac{p-1}{2}} \left(1 - p^2 \sum_{r=1}^{(p-1)/2} \frac{1}{r^2}\right) c_{\frac{p-1}{2}} + p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{(-1)^k c_k}{2k+1} \pmod{p^3}.
\end{aligned}$$

By [13, Theorem 5.2], $\sum_{r=1}^{(p-1)/2} \frac{1}{r^2} \equiv 0 \pmod{p}$. Thus the result follows. \square

Example 2.1. Let $\{P_n(x)\}$ be the famous Legendre polynomials given by

$$P_0(x) = 1, \quad P_1(x) = x, \quad (n+1)P_{n+1}(x) = (2n+1)xP_n(x) - nP_{n-1}(x) \quad (n \geq 1).$$

It is well known that ([8, p.170])

$$P_n(x) = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \left(\frac{x-1}{2}\right)^k.$$

Thus, applying Lemma 2.2 we see that for any prime $p > 3$ and $x \in \mathbb{Z}_p$,

$$(2.1) \quad \sum_{n=0}^{p-1} P_n(x) \equiv \sum_{k=0}^{p-1} \frac{p}{2k+1} \left(\frac{1-x}{2}\right)^k \pmod{p^3}.$$

Lemma 2.3 ([3, (2.19), p.1305 and (2.27)]. *Let n be a nonnegative integer. Then*

$$A_n = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} f_k = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} (-1)^{n-k} a_k$$

and

$$\frac{D_n}{8^n} = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \frac{f_k}{(-8)^k}.$$

Lemma 2.3 can be verified straightforward by using Maple and the method in [5] to compare the recurrence relations for both sides.

Theorem 2.1. *Let p be an odd prime, $m \in \mathbb{Z}_p$ and $m \not\equiv 0, -4, -8 \pmod{p}$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{m}{(m+8)^2}\right)^k f_k \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{3k}{k} \left(\frac{m}{(m+4)^3}\right)^k \pmod{p}.$$

Proof. Taking $c_k = \frac{f_k}{(-8)^k}$ in Lemma 2.1 and then applying Lemma 2.3 we see that for $u \in \mathbb{Z}_p$ with $u \not\equiv 1 \pmod{p}$,

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2} \right)^k \frac{f_k}{(-8)^k} \equiv \sum_{n=0}^{p-1} u^n \frac{D_n}{8^n} \pmod{p}.$$

Now substituting u with $-\frac{8}{m}$ in the above formula we deduce that

$$(2.2) \quad \sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{m}{(m+8)^2} \right)^k f_k \equiv \sum_{n=0}^{p-1} \frac{D_n}{(-m)^n} \pmod{p}.$$

By [16, Theorem 3.1],

$$\sum_{n=0}^{p-1} \frac{D_n}{(-m)^n} \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{3k}{k} \left(\frac{m}{(m+4)^3} \right)^k \pmod{p}.$$

Thus the theorem is proved. \square

Theorem 2.2. *Let $p > 5$ be a prime. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{50^k} \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1 \pmod{3} \text{ and so } p = x^2 + 3y^2, \\ 0 \pmod{p} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Proof. Taking $m = 2$ in Theorem 2.1 we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{50^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{108^k} \pmod{p}.$$

From [12] and [20] we know that

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{108^k} \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1 \pmod{3} \text{ and so } p = x^2 + 3y^2, \\ 0 \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Thus the result follows. \square

Theorem 2.3. *Let p be a prime with $p \equiv \pm 1 \pmod{8}$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{32^k} \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1, 7 \pmod{24} \text{ and so } p = x^2 + 6y^2, \\ 0 \pmod{p} & \text{if } p \equiv 17, 23 \pmod{24}. \end{cases}$$

Proof. Taking $m = 8$ in Theorem 2.1 we see that

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} f_k}{32^k} \equiv \sum_{n=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{216^k} \pmod{p}.$$

Now applying [14, Theorem 4.5] we deduce the result. \square

Theorem 2.4. *Let p be a prime with $p \equiv \pm 1 \pmod{5}$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-49)^k} \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1, 19 \pmod{30} \text{ and so } p = x^2 + 15y^2, \\ 0 \pmod{p} & \text{if } p \equiv 11, 29 \pmod{30}. \end{cases}$$

Proof. Taking $m = -1$ in Theorem 2.1 we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-49)^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{(-27)^k} \pmod{p}.$$

Now applying [14, Theorem 4.6] we deduce the result. \square

Theorem 2.5. *Let p be a prime such that $p \equiv 1, 19 \pmod{30}$ and so $p = x^2 + 15y^2$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{5^k} \equiv 4x^2 \pmod{p}.$$

Proof. Note that $\left(\frac{-15}{p}\right) = \left(\frac{-3}{p}\right)\left(\frac{5}{p}\right) = \left(\frac{p}{3}\right)\left(\frac{p}{5}\right) = 1$. Let $t \in \{1, 2, \dots, \frac{p-1}{2}\}$ be given by $t^2 \equiv -15 \pmod{p}$ and $m = (-11 + 3t)/2$. Then $m \not\equiv 0 \pmod{p}$ and $\frac{64}{m} \equiv \frac{-11-3t}{2} \pmod{p}$ and so

$$\frac{(m+8)^2}{m} = 16 + m + \frac{64}{m} \equiv 16 + \frac{-11+3t}{2} + \frac{-11-3t}{2} = 5 \pmod{p}.$$

Also,

$$\frac{(m+4)^3}{m} \equiv \frac{\left(\frac{-3+3t}{2}\right)^3}{\frac{-11+3t}{2}} \equiv -27 \pmod{p}.$$

Now applying Theorem 2.1 and [14, Theorem 4.6] we deduce that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{5^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{(-27)^k} \equiv 4x^2 \pmod{p}.$$

This proves the theorem. \square

Remark 2.1 Let p be an odd prime. Taking $m = -16$ in Theorem 2.1 we deduce the congruence for $\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-4)^k} \pmod{p}$.

Theorem 2.6. *Let p be an odd prime and $u \in \mathbb{Z}_p$.*

(i) *If $u \not\equiv 1 \pmod{p}$, then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2}\right)^k f_k \equiv \sum_{n=0}^{p-1} A_n u^n \pmod{p}.$$

(ii) If $u \not\equiv -1 \pmod{p}$, then

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1+u)^2} \right)^k a_k \equiv \sum_{n=0}^{p-1} A_n u^n \pmod{p}.$$

Proof. Taking $c_k = f_k$ in Lemma 2.1 and then applying Lemma 2.3 we obtain (i). Taking $c_k = (-1)^k a_k$ in Lemma 2.1 and then applying Lemma 2.3 we see that for $u \not\equiv 1 \pmod{p}$,

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2} \right)^k (-1)^k a_k \equiv \sum_{n=0}^{p-1} u^n \cdot (-1)^n A_n \pmod{p}.$$

Now substituting u with $-u$ in the above we deduce (ii), which completes the proof. \square

Theorem 2.7. Let $p > 3$ be a prime, $x \in \mathbb{Z}_p$, $x \not\equiv 0, -1, -\frac{1}{3} \pmod{p}$ and $\left(\frac{9x^2+14x+9}{p} \right) = 1$. Then

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{x}{9x^2+14x+9} \right)^k f_k \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{4k}{2k} \left(\frac{x}{9(1+3x)^4} \right)^k \pmod{p}.$$

Proof. Let $v \in \{1, 2, \dots, \frac{p-1}{2}\}$ be given by $v^2 \equiv 9x^2 + 14x + 9 \pmod{p}$, and let

$$u = \frac{2x + v^2 + 3(x+1)v}{2x}.$$

Then $u \in \mathbb{Z}_p$. Since $v^2 \equiv 9x^2 + 14x + 9 \not\equiv 9(x+1)^2 \pmod{p}$ we have $v \not\equiv \pm 3(x+1) \pmod{p}$. Thus $u \not\equiv 1 \pmod{p}$. If $u \equiv -1 \pmod{p}$, then $v^2 + 3(x+1)v \equiv -4x \pmod{p}$ and so $9(x+1)^2 \equiv v^2 + 4x \equiv -3(x+1)v \pmod{p}$. As $x+1 \not\equiv 0 \pmod{p}$ we have $v \equiv -3(x+1) \pmod{p}$ and get a contradiction. Thus $u \not\equiv -1 \pmod{p}$. Note that

$$\begin{aligned} & \frac{2x + v^2 + 3(x+1)v}{2x} \cdot \frac{2x + v^2 - 3(x+1)v}{2x} \\ &= \frac{(2x + v^2)^2 - 9(x+1)^2 v^2}{4x^2} \equiv \frac{(9x^2 + 16x + 9)^2 - 9(x+1)^2(9x^2 + 14x + 9)}{4x^2} \\ &= \frac{(9x^2 + 16x + 9)^2 - (9x^2 + 16x + 9 + 2x)(9x^2 + 16x + 9 - 2x)}{4x^2} = 1 \pmod{p}. \end{aligned}$$

We see that $u \not\equiv 0 \pmod{p}$ and

$$u + \frac{1}{u} \equiv \frac{2x + v^2 + 3(x+1)v}{2x} + \frac{2x + v^2 - 3(x+1)v}{2x} = \frac{2x + v^2}{x} \equiv \frac{9x^2 + 16x + 9}{x} \pmod{p}.$$

Now, from the above and Theorem 2.6 we deduce that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{x}{9x^2+14x+9} \right)^k f_k$$

$$\begin{aligned}
&\equiv \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{\left(u + \frac{1}{u} - 2\right)^k} = \sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1-u)^2}\right)^k f_k \\
&\equiv \sum_{n=0}^{p-1} A_n u^n \equiv \sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{u}{(1+u)^2}\right)^k a_k \\
&\equiv \sum_{k=0}^{p-1} \binom{2k}{k} \frac{a_k}{\left(u + \frac{1}{u} + 2\right)^k} \equiv \sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{x}{9(x+1)^2}\right)^k a_k \pmod{p}.
\end{aligned}$$

Taking $u = \frac{x}{9}$ in [16, Theorem 4.1] we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \left(\frac{x}{9(x+1)^2}\right)^k a_k \equiv \sum_{k=0}^{p-1} \binom{2k}{k}^2 \binom{4k}{2k} \left(\frac{x}{9(1+3x)^4}\right)^k \pmod{p}.$$

Thus the result follows. \square

Theorem 2.8. *Let p be a prime of the form $12k + 1$ and so $p = x^2 + 9y^2$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-16)^k} \equiv 4x^2 \pmod{p}.$$

Proof. Taking $x = -3$ in Theorem 2.7 we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{(-16)^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{4k}{2k}}{(-12288)^k} \pmod{p}.$$

Now applying [15, Theorem 5.3] we deduce the result. \square

Theorem 2.9. *Let $p > 5$ be a prime such that $p \equiv 1, 5, 19, 23 \pmod{24}$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{96^k} \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1, 19 \pmod{24} \text{ and so } p = x^2 + 2y^2, \\ 0 \pmod{p} & \text{if } p \equiv 5, 23 \pmod{24}. \end{cases}$$

Proof. Since $\left(\frac{6}{p}\right) = 1$, taking $x = 9$ in Theorem 2.7 we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{96^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{4k}{2k}}{28^{4k}} \pmod{p}.$$

Now applying [16, Theorem 5.6] we deduce the result. \square

Theorem 2.10. *Let p be a prime such that $p \equiv 1, 9 \pmod{20}$ and so $p = x^2 + 5y^2$. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{16^k} \equiv 4x^2 \pmod{p}.$$

Proof. Let $t \in \{1, 2, \dots, \frac{p-1}{2}\}$ be given by $t^2 \equiv -5 \pmod{p}$, and $x = \frac{1+4t}{9}$. Then $x \not\equiv 0, -1, -\frac{1}{3} \pmod{p}$, $\frac{1}{x} \equiv \frac{1-4t}{9} \pmod{p}$ and so $\frac{9x^2+14x+9}{x} = 14 + 9(x + \frac{1}{x}) \equiv 16 \pmod{p}$. Thus, $(\frac{9x^2+14x+9}{p}) = (\frac{16x}{p}) = (\frac{1+4t}{p}) = (\frac{-1-4t}{p}) = (\frac{(2-t)^2}{p}) = 1$. Also,

$$\frac{9(1+3x)^4}{x} \equiv (1-4t)\left(1 + \frac{1+4t}{3}\right)^4 \equiv (1-4t) \cdot \frac{4^4}{3^4} \cdot (-4)(1+4t) \equiv -1024 \pmod{p}.$$

Now applying Theorem 2.7 and [15, Theorem 5.5] we deduce that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{16^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2 \binom{4k}{2k}}{(-1024)^k} \equiv 4x^2 \pmod{p}.$$

This proves the theorem. \square

Lemma 2.4. *Let $p > 3$ be a prime and $z \in \mathbb{Z}_p$ with $z \not\equiv -\frac{1}{4} \pmod{p}$. Then*

$$\sum_{n=0}^{p-1} f_n z^n \equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} \left(\frac{z}{(1+4z)^3}\right)^k \pmod{p}.$$

Proof. From [22, (2.3)] we know that

$$(2.3) \quad f_n = \sum_{k=0}^n \binom{2k}{k} \binom{3k}{k} \binom{n+2k}{3k} (-4)^{n-k}.$$

Thus,

$$\begin{aligned} \sum_{n=0}^{p-1} f_n z^n &= \sum_{n=0}^{p-1} \sum_{k=0}^n \binom{2k}{k} \binom{3k}{k} \binom{n+2k}{3k} (-4)^{n-k} z^n \\ &= \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} z^k \sum_{n=k}^{p-1} \binom{n+2k}{3k} (-4z)^{n-k} \\ &= \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} z^k \sum_{r=0}^{p-1-k} \binom{3k+r}{3k} (-4z)^r \\ &= \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} z^k \sum_{r=0}^{p-1-k} \binom{-3k-1}{r} (4z)^r \\ &\equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} z^k \sum_{r=0}^{p-1-k} \binom{p-1-3k}{r} (4z)^r \\ &= \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} z^k (1+4z)^{p-1-3k} \\ &\equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} \left(\frac{z}{(1+4z)^3}\right)^k \pmod{p}. \end{aligned}$$

This proves the lemma. \square

Theorem 2.11. *Let $p > 3$ be a prime and $u \in \mathbb{Z}_p$ with $u \not\equiv 0 \pmod{p}$. Then*

$$\begin{aligned} & - \binom{p}{3} \sum_{n=0}^{p-1} f_n \left(-\frac{1+3u}{4} \right)^n \\ & \equiv \sum_{x=0}^{p-1} \left(\frac{x^3 - 3u(u^3 + 6u + 2)x - (2u^6 - 30u^4 - 10u^3 - 9u^2 - 6u - 1)}{p} \right) \pmod{p}. \end{aligned}$$

Proof. As $\binom{2k}{k} \binom{3k}{k} = \frac{(3k)!}{k!^3}$ we see that $p \mid \binom{2k}{k} \binom{3k}{k}$ for $\frac{p}{3} < k < p$. Set $t_1 = \frac{1+3u}{2u^3}$. Putting $z = -(1+3u)/4$ in Lemma 2.4 and then applying [14, Corollary 3.1] we see that

$$\begin{aligned} & \sum_{n=0}^{p-1} f_n \left(-\frac{1+3u}{4} \right)^n \\ & \equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} \left(\frac{t_1}{54} \right)^k \\ & \equiv - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 + 3(4(1-t_1) - 5)x + 2(2(1-t_1)^2 - 14(1-t_1) + 11)}{p} \right) \\ & = - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 - 3(4t_1 + 1)x + 4t_1^2 + 20t_1 - 2}{p} \right) \\ & = - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{\left(\frac{x}{u^2}\right)^3 - 3\left(\frac{2(1+3u)}{u^3} + 1\right)\frac{x}{u^2} + \frac{(1+3u)^2}{u^6} + \frac{10(1+3u)}{u^3} - 2}{p} \right) \\ & = - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 - 3(2(1+3u)u + u^4)x + (1+3u)^2 + 10(1+3u)u^3 - 2u^6}{p} \right) \pmod{p}. \end{aligned}$$

This yields the result. \square

Corollary 2.1. *For any prime $p > 5$,*

$$\sum_{n=0}^{p-1} f_n \equiv - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 - 5115x + 115414}{p} \right) \pmod{p}.$$

Proof. Taking $u = -5/3$ in Theorem 2.11 we deduce that

$$\begin{aligned} \sum_{n=0}^{p-1} f_n & \equiv - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 - \frac{1705}{27}x + \frac{115414}{729}}{p} \right) = - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{\left(\frac{x}{9}\right)^3 - \frac{1705}{27} \cdot \frac{x}{9} + \frac{115414}{729}}{p} \right) \\ & = - \binom{p}{3} \sum_{x=0}^{p-1} \left(\frac{x^3 - 5115x + 115414}{p} \right) \pmod{p}. \quad \square \end{aligned}$$

Theorem 2.12. *Let $p > 3$ be a prime and $z \in \mathbb{Z}_p$ with $z \not\equiv \frac{1}{2} \pmod{p}$. Then*

$$\sum_{n=0}^{p-1} f_n z^n \equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} \left(\frac{z^2}{(1-2z)^3} \right)^k \pmod{p}.$$

Proof. From [22, (2.2)] we know that

$$(2.4) \quad f_n = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{2k}{k} \binom{3k}{k} \binom{n+k}{3k} 2^{n-2k}.$$

Thus,

$$\begin{aligned} \sum_{n=0}^{p-1} f_n z^n &= \sum_{n=0}^{p-1} \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{2k}{k} \binom{3k}{k} \binom{n+k}{3k} 2^{n-2k} z^n \\ &= \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \binom{3k}{k} \left(\frac{z}{2} \right)^k \sum_{n=2k}^{p-1} \binom{n+k}{3k} (2z)^{n-k} \\ &= \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \binom{3k}{k} \left(\frac{z}{2} \right)^k \sum_{r=0}^{p-1-2k} \binom{3k+r}{3k} (2z)^{k+r} \\ &= \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \binom{3k}{k} z^{2k} \sum_{r=0}^{p-1-2k} \binom{-3k-1}{r} (-2z)^r \\ &\equiv \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \binom{3k}{k} z^{2k} \sum_{r=0}^{p-1-2k} \binom{p-1-3k}{r} (-2z)^r \\ &= \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \binom{3k}{k} z^{2k} (1-2z)^{p-1-3k} \\ &\equiv \sum_{k=0}^{p-1} \binom{2k}{k} \binom{3k}{k} \left(\frac{z^2}{(1-2z)^3} \right)^k \pmod{p}. \end{aligned}$$

This is the result. \square

Corollary 2.2. *Let $p > 3$ be a prime and $z \in \mathbb{Z}_p$ with $z \not\equiv \frac{1}{2}, -\frac{1}{4} \pmod{p}$. Then*

$$\sum_{k=0}^{\lfloor p/3 \rfloor} \binom{2k}{k} \binom{3k}{k} \left(\frac{z}{(1+4z)^3} \right)^k \equiv \sum_{k=0}^{\lfloor p/3 \rfloor} \binom{2k}{k} \binom{3k}{k} \left(\frac{z^2}{(1-2z)^3} \right)^k \pmod{p}.$$

Proof. As $p \mid \binom{2k}{k} \binom{3k}{k}$ for $\frac{p}{3} < k < p$, combining Lemma 2.4 with Theorem 2.12 yields the result. \square

Taking $c_k = f_k, (-1)^k a_k, \frac{f_k}{(-8)^k}$ in Lemma 2.2 and then applying Lemma 2.3 we see that for any prime $p > 3$,

$$(2.5) \quad \sum_{n=0}^{p-1} A_n \equiv \sum_{k=0}^{p-1} \frac{p}{2k+1} (-1)^k f_k \pmod{p^3},$$

$$(2.6) \quad \sum_{n=0}^{p-1} (-1)^n A_n \equiv \sum_{k=0}^{p-1} \frac{p}{2k+1} a_k \pmod{p^3},$$

$$(2.7) \quad \sum_{n=0}^{p-1} \frac{D_n}{8^n} \equiv \sum_{k=0}^{p-1} \frac{p}{2k+1} \cdot \frac{f_k}{8^k} \pmod{p^3}.$$

It is known that ([11, Lemma 2.6])

$$(2.8) \quad f_k \equiv (-8)^k f_{p-1-k} \pmod{p} \quad \text{for } k = 0, 1, \dots, p-1.$$

Thus, from (2.5) and (2.7) we see that

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{D_n}{8^n} &\equiv 8^{-\frac{p-1}{2}} f_{\frac{p-1}{2}} + p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{1}{2k+1} \cdot \frac{f_k}{8^k} \\ &= 8^{-\frac{p-1}{2}} f_{\frac{p-1}{2}} + p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{1}{2(p-1-k)+1} \cdot \frac{f_{p-1-k}}{8^{p-1-k}} \\ &\equiv 8^{-\frac{p-1}{2}} f_{\frac{p-1}{2}} + p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{1}{-2k-1} \cdot \frac{f_k/(-8)^k}{8^{p-1-k}} \\ &\equiv 8^{-\frac{p-1}{2}} f_{\frac{p-1}{2}} - p \sum_{\substack{k=0 \\ k \neq (p-1)/2}}^{p-1} \frac{1}{2k+1} (-1)^k f_k \\ &= ((-1)^{\frac{p-1}{2}} + 8^{-\frac{p-1}{2}}) f_{\frac{p-1}{2}} - \sum_{k=0}^{p-1} \frac{p}{2k+1} (-1)^k f_k \\ &= \frac{1 + (-8)^{\frac{p-1}{2}}}{8^{\frac{p-1}{2}}} f_{\frac{p-1}{2}} - \sum_{n=0}^{p-1} A_n \pmod{p^2}. \end{aligned}$$

If $p \equiv 5, 7 \pmod{8}$, then $(-8)^{(p-1)/2} \equiv -1 \pmod{p}$ and so $p \mid f_{\frac{p-1}{2}}$ by (2.8). Hence $(1 + (-8)^{\frac{p-1}{2}}) f_{\frac{p-1}{2}} \equiv 0 \pmod{p^2}$ and so

$$(2.9) \quad \sum_{n=0}^{p-1} \frac{D_n}{8^n} \equiv - \sum_{n=0}^{p-1} A_n \pmod{p^2} \quad \text{for } p \equiv 5, 7 \pmod{8}.$$

Theorem 2.13. *Let p be a prime with $p \equiv 5 \pmod{6}$. Then*

$$\sum_{n=0}^{p-1} \frac{D_n}{4^n} \equiv 0 \pmod{p^2}.$$

Proof. By [16, Lemma 3.1],

$$D_n = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{2k}{k}^2 \binom{3k}{k} \binom{n+k}{3k} 4^{n-2k}.$$

Thus, applying the identity in the proof of Lemma 2.2 we deduce that

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{D_n}{4^n} &= \sum_{n=0}^{p-1} \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{2k}{k}^2 \binom{3k}{k} \binom{n+k}{3k} 4^{-2k} \\ &= \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{16^k} \sum_{n=2k}^{p-1} \binom{n+k}{3k} \\ &= \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{16^k} \sum_{r=0}^{p-1-2k} \binom{3k+r}{r} \\ &= \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{16^k} \sum_{r=0}^{p-1-2k} \binom{-3k-1}{r} (-1)^r \\ &= \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{16^k} \binom{p+k}{p-1-2k} = \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2 \binom{3k}{k}}{16^k} \binom{p+k}{3k+1}. \end{aligned}$$

For $1 \leq k \leq \frac{p-1}{2}$ we see that $p \nmid 3k+1$ and so

$$\begin{aligned} \binom{3k}{k} \binom{p+k}{3k+1} &= \frac{p}{3k+1} \cdot \frac{(p^2-1^2) \cdots (p^2-k^2)(p-(k+1)) \cdots (p-2k)}{k!(2k)!} \\ &\equiv \frac{p}{3k+1} \pmod{p^2}. \end{aligned}$$

Hence

$$\sum_{n=0}^{p-1} \frac{D_n}{4^n} \equiv \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2}{16^k} \cdot \frac{p}{3k+1} \pmod{p^2}.$$

For $a \in \mathbb{Z}_p$ let

$$S_p(a) = \sum_{k=0}^{(p-1)/2} \binom{a}{k} \binom{-1-a}{k} \frac{1}{3k+1}.$$

By [17, (2.2)],

$$(3a+1)S_p(a) - (3a-1)S_p(a-1) = 2 \binom{a-1}{\frac{p-1}{2}} \binom{-a-1}{\frac{p-1}{2}}.$$

For $a \not\equiv 0 \pmod{p}$ we see that

$$\binom{a-1}{\frac{p-1}{2}} \binom{-a-1}{\frac{p-1}{2}} = \frac{(1^2 - a^2)(2^2 - a^2) \cdots ((\frac{p-1}{2})^2 - a^2)}{(\frac{p-1}{2}!)^2} \equiv 0 \pmod{p}.$$

Since $p \equiv 2 \pmod{3}$, we have $p \nmid 3k+1$ for $1 \leq k \leq \frac{p-1}{2}$. Hence $S_p(a) \in \mathbb{Z}_p$ and so

$$S_p(a) \equiv \frac{3a-1}{3a+1} S_p(a-1) = \frac{2-6a}{-2-6a} S_p(a-1) \pmod{p} \quad \text{for } a \not\equiv 0, -\frac{1}{3} \pmod{p}.$$

Therefore,

$$\begin{aligned} S_p\left(-\frac{1}{2}\right) &\equiv \frac{5}{1} S_p\left(-\frac{1}{2}-1\right) \equiv \frac{5}{1} \cdot \frac{11}{7} S_p\left(-\frac{1}{2}-2\right) \\ &\equiv \cdots \equiv \frac{5 \cdot 11 \cdots p}{1 \cdot 7 \cdots (p-4)} S_p\left(-\frac{1}{2}-\frac{p+1}{6}\right) \equiv 0 \pmod{p}. \end{aligned}$$

Note that $\binom{-\frac{1}{2}}{k} = \binom{2k}{k} / (-4)^k$. For $p \equiv 2 \pmod{3}$ we see that

$$\sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}^2}{16^k(3k+1)} = \sum_{k=0}^{(p-1)/2} \binom{-1/2}{k}^2 \frac{1}{3k+1} = S_p\left(-\frac{1}{2}\right) \equiv 0 \pmod{p}$$

and so $\sum_{n=0}^{p-1} \frac{D_n}{4^n} \equiv 0 \pmod{p^2}$. This proves the theorem. \square

Remark 2.2 Theorem 2.13 was conjectured by Z.W. Sun in [21, Conjecture 5.2].

Theorem 2.14. *Let p be an odd prime. Then*

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{a_k}{4^k} \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1, 3 \pmod{8} \text{ and so } p = x^2 + 2y^2, \\ 0 \pmod{p} & \text{if } p \equiv 5, 7 \pmod{8}. \end{cases}$$

Proof. Taking $u = 1$ in Theorem 2.6(ii) we see that

$$\sum_{k=0}^{p-1} \binom{2k}{k} \frac{a_k}{4^k} \equiv \sum_{n=0}^{p-1} A_n \pmod{p}.$$

By [19, Corollary 1.2],

$$\sum_{n=0}^{p-1} A_n \equiv \begin{cases} 4x^2 \pmod{p} & \text{if } p \equiv 1, 3 \pmod{8} \text{ and so } p = x^2 + 2y^2, \\ 0 \pmod{p} & \text{if } p \equiv 5, 7 \pmod{8}. \end{cases}$$

Thus the theorem is proved. \square

Remark 2.3 Let p be an odd prime, and $m \in \mathbb{Z}_p$ with $m \not\equiv 0 \pmod{p}$. For conjectures on $\sum_{k=0}^{p-1} \binom{2k}{k} \frac{a_k}{m^k} \pmod{p^2}$, see [21, Conjecture 7.8] and [16, Conjectures 6.4-6.6].

3. Conjectures involving Franel numbers

By calculations with Maple, we pose the following conjectures:

Conjecture 3.1. *Let p be an odd prime. If $p \equiv 1, 3 \pmod{8}$ and so $p = x^2 + 2y^2$, then*

$$f_{\frac{p-1}{2}} \equiv (-1)^{\frac{p-1}{2}} ((3 \cdot 2^{p-1} + 1)x^2 - 2p) \pmod{p^2}$$

and

$$f_{\frac{p^2-1}{2}} \equiv 4x^4(3 \cdot 2^{p-1} + 1) - 16px^2 \pmod{p^2}.$$

Conjecture 3.2. *Let p be an odd prime. If $p \equiv 5, 7 \pmod{8}$, then $f_{\frac{p^2-1}{2}} \equiv p^2 \pmod{p^3}$ and $f_{\frac{p^{2r}-1}{2}} \equiv 0 \pmod{p^r}$ for $r = 1, 2, 3, \dots$*

For any nonzero integer m and prime p let

$$F_p(m) = \sum_{k=0}^{p-1} \binom{2k}{k} \frac{f_k}{m^k}.$$

Conjecture 3.3. *Let p be an odd prime. Then*

$$F_p(-16) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p = x^2 + y^2 \equiv 1 \pmod{12} \text{ with } 6 \mid y, \\ 2p - 4x^2 \pmod{p^2} & \text{if } p = x^2 + y^2 \equiv 1 \pmod{12} \text{ with } 6 \mid x - 3, \\ 4\left(\frac{xy}{3}\right)xy \pmod{p^2} & \text{if } p = x^2 + y^2 \equiv 5 \pmod{12}, \\ 0 \pmod{p^2} & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

Conjecture 3.4. *Let $p > 3$ be a prime. Then*

$$F_p(96) \equiv \begin{cases} \left(\frac{p}{3}\right)(4x^2 - 2p) \pmod{p^2} & \text{if } p = x^2 + 2y^2 \equiv 1, 3 \pmod{8}, \\ 0 \pmod{p^2} & \text{if } p \equiv 5, 7 \pmod{8}. \end{cases}$$

Conjecture 3.5. *Let $p > 5$ be a prime. Then*

$$F_p(50) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p = x^2 + 3y^2 \equiv 1 \pmod{3}, \\ 0 \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Conjecture 3.6. *Let $p > 5$ be a prime. Then*

$$F_p(16) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1, 9 \pmod{20} \text{ and so } p = x^2 + 5y^2, \\ 2x^2 - 2p \pmod{p^2} & \text{if } p \equiv 3, 7 \pmod{20} \text{ and so } 2p = x^2 + 5y^2, \\ 0 \pmod{p^2} & \text{if } p \equiv 11, 13, 17, 19 \pmod{20}. \end{cases}$$

Conjecture 3.7. *Let $p > 3$ be a prime. Then*

$$F_p(32) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1, 7 \pmod{24} \text{ and so } p = x^2 + 6y^2, \\ 8x^2 - 2p \pmod{p^2} & \text{if } p \equiv 5, 11 \pmod{24} \text{ and so } p = 2x^2 + 3y^2, \\ 0 \pmod{p^2} & \text{if } p \equiv 13, 17, 19, 23 \pmod{24}. \end{cases}$$

Conjecture 3.8. *Let $p > 7$ be a prime. Then*

$$F_p(5) \equiv F_p(-49) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p = x^2 + 15y^2 \equiv 1, 19 \pmod{30}, \\ 2p - 12x^2 \pmod{p^2} & \text{if } p = 3x^2 + 5y^2 \equiv 17, 23 \pmod{30}, \\ 0 \pmod{p^2} & \text{if } p \equiv 7, 11, 13, 29 \pmod{30}. \end{cases}$$

Conjecture 3.9. *Let $b \in \{7, 11, 19, 31, 59\}$ and*

$$f(b) = \begin{cases} -112 & \text{if } b = 7, \\ -400 & \text{if } b = 11, \\ -2704 & \text{if } b = 19, \\ -24304 & \text{if } b = 31, \\ -1123600 & \text{if } b = 59. \end{cases}$$

If p is a prime with $p \neq 2, 3, b$ and $p \nmid f(b)$, then

$$F_p(f(b)) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p = x^2 + 3by^2, \\ 2p - 12x^2 \pmod{p^2} & \text{if } p = 3x^2 + by^2, \\ 2x^2 - 2p \pmod{p^2} & \text{if } 2p = x^2 + 3by^2, \\ 2p - 6x^2 \pmod{p^2} & \text{if } 2p = 3x^2 + by^2, \\ 0 \pmod{p^2} & \text{if } \left(\frac{-3b}{p}\right) = -1. \end{cases}$$

Conjecture 3.10. *Let $b \in \{5, 7, 13, 17\}$ and*

$$f(b) = \begin{cases} 320 & \text{if } b = 5, \\ 896 & \text{if } b = 7, \\ 10400 & \text{if } b = 13, \\ 39200 & \text{if } b = 17. \end{cases}$$

If p is a prime with $p \neq 2, 3, b$ and $p \nmid f(b)$, then

$$F_p(f(b)) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p = x^2 + 6by^2, \\ 8x^2 - 2p \pmod{p^2} & \text{if } p = 2x^2 + 3by^2, \\ 2p - 12x^2 \pmod{p^2} & \text{if } p = 3x^2 + 2by^2, \\ 2p - 24x^2 \pmod{p^2} & \text{if } p = 6x^2 + by^2, \\ 0 \pmod{p^2} & \text{if } \left(\frac{-6b}{p}\right) = -1. \end{cases}$$

Conjecture 3.11. *Let $p > 3$ be a prime. Then*

$$\sum_{k=0}^{p-1} \frac{9k+4}{5^k} \binom{2k}{k} f_k \equiv 4 \left(\frac{p}{5}\right) p \pmod{p^2} \quad \text{for } p > 5,$$

$$\sum_{k=0}^{p-1} \frac{5k+2}{16^k} \binom{2k}{k} f_k \equiv 2p \pmod{p^2},$$

$$\begin{aligned}
\sum_{k=0}^{p-1} \frac{9k+2}{50^k} \binom{2k}{k} f_k &\equiv 2 \left(\frac{-1}{p}\right) p \pmod{p^2} \quad \text{for } p \neq 5, \\
\sum_{k=0}^{p-1} \frac{5k+1}{96^k} \binom{2k}{k} f_k &\equiv \left(\frac{-2}{p}\right) p \pmod{p^2}, \\
\sum_{k=0}^{p-1} \frac{6k+1}{320^k} \binom{2k}{k} f_k &\equiv \left(\frac{p}{15}\right) p \pmod{p^2} \quad \text{for } p \neq 5, \\
\sum_{k=0}^{p-1} \frac{90k+13}{896^k} \binom{2k}{k} f_k &\equiv 13 \left(\frac{p}{7}\right) p \pmod{p^2} \quad \text{for } p \neq 7, \\
\sum_{k=0}^{p-1} \frac{102k+11}{10400^k} \binom{2k}{k} f_k &\equiv 11 \left(\frac{p}{39}\right) p \pmod{p^2} \quad \text{for } p \neq 5, 13.
\end{aligned}$$

Conjecture 3.12. *Let $p > 3$ be a prime. Then*

$$\begin{aligned}
\sum_{k=0}^{p-1} \frac{15k+4}{(-49)^k} \binom{2k}{k} f_k &\equiv 4 \left(\frac{p}{3}\right) p \pmod{p^2} \quad \text{for } p \neq 5, 7, \\
\sum_{k=0}^{p-1} \frac{9k+2}{(-112)^k} \binom{2k}{k} f_k &\equiv 2 \left(\frac{p}{7}\right) p \pmod{p^2} \quad \text{for } p \neq 7, \\
\sum_{k=0}^{p-1} \frac{99k+17}{(-400)^k} \binom{2k}{k} f_k &\equiv 17 \left(\frac{-1}{p}\right) p \pmod{p^2} \quad \text{for } p \neq 5, \\
\sum_{k=0}^{p-1} \frac{855k+109}{(-2704)^k} \binom{2k}{k} f_k &\equiv 109p \left(\frac{-1}{p}\right) \pmod{p^2} \quad \text{for } p \neq 13, \\
\sum_{k=0}^{p-1} \frac{585k+58}{(-24304)^k} \binom{2k}{k} f_k &\equiv 58p \left(\frac{-31}{p}\right) \pmod{p^2} \quad \text{for } p \neq 7, 31.
\end{aligned}$$

Acknowledgments

The author is supported by the National Natural Science Foundation of China (Grant No. 11371163).

References

- [1] R. Apéry, *Irrationalité de $\zeta(2)$ et $\zeta(3)$* , in Journées Arith. de Luminy, Astérisque **61**(1979), 11-13.
- [2] H.H. Chan, S.H. Chan and Z.G. Liu, *Domb's numbers and Ramanujan-Sato type series for $1/\pi$* , Adv. in Math. **186**(2004), 396-410.

- [3] H.H. Chan, Y. Tanigawa, Y. Yang and W. Zudilin, *New analogues of Clausen's identities arising from the theory of modular forms*, Adv. Math. **228**(2011), 1294-1314.
- [4] H. H. Chan and H. Verrill, *The Apéry numbers, the Almkvist-Zudilin numbers and new series for $1/\pi$* , Math. Res. Lett. **16**(2009), 405-420.
- [5] W.Y.C. Chen, Q.-H. Hou and Y.-P. Mu, *A telescoping method for double summations*, J. Comput. Appl. Math. **196**(2006), 553-566.
- [6] S. Cooper, *Sporadic sequences, modular forms and new series for $1/\pi$* , Ramanujan J. **29**(2012), 163-183.
- [7] C. Domb, *On the theory of cooperative phenomena in crystals*, Adv. in Phys. **9**(1960), 149-361.
- [8] A. Erdélyi, W. Magnus, F. Oberhettinger and F.G. Tricomi, *Higher Transcendental Functions, Vol.II*, McGraw-Hill Book Company, Inc., New York-Toronto-London, 1953. Based, in part, on notes left by Harry Bateman.
- [9] J. Franel, *On a question of Laisant*, L'intermédiaire des mathématiciens **1**(1894), 45-47.
- [10] V.J.W. Guo, *Proof of a supercongruence conjectured by Z.-H. Sun*, Integral Transforms Spec. Funct. **25**(2014), 1009-1015.
- [11] F. Jarvis and H.A. Verrill, *Supercongruences for the Catalan-Larcombe-French numbers*, Ramanujan J. **22**(2010), 171-186.
- [12] E. Mortenson, *Supercongruences for truncated ${}_{n+1}F_n$ hypergeometric series with applications to certain weight three newforms*, Proc. Amer. Math. Soc. **133**(2005), 321-330.
- [13] Z. H. Sun, *Congruences concerning Bernoulli numbers and Bernoulli polynomials*, Discrete Appl. Math. **105** (2000), 193-223.
- [14] Z. H. Sun, *Congruences involving $\binom{2k}{k}^2 \binom{3k}{k}$* , J. Number Theory **133**(2013), 1572-1595.
- [15] Z. H. Sun, *Congruences concerning Legendre polynomials II*, J. Number Theory **133**(2013), 1950-1976.
- [16] Z. H. Sun, *Congruences for Domb and Almkvist-Zudilin numbers*, Integral Transforms Spec. Funct. **26**(2015), 642-659.
- [17] Z.H. Sun, *Supercongruences involving Bernoulli polynomials*, Int. J. Number Theory **12**(2016), 1259-1271.
- [18] Z.H. Sun, *Identities and congruences for Catalan-Larcombe-French numbers*, Int. J. Number Theory **13**(2017), 835-851.
- [19] Z. W. Sun, *On sums of Apéry polynomials and related congruences*, J. Number Theory **132**(2012), 2673-2699.

- [20] Z. W. Sun, *On sums involving products of three binomial coefficients*, Acta Arith. **156**(2012), 123-141.
- [21] Z.W. Sun, *Conjectures and results on $x^2 \pmod{p^2}$ with $4p = x^2 + dy^2$* , in: Number Theory and Related Area (eds., Y. Ouyang, C. Xing, F. Xu and P. Zhang), Higher Education Press & International Press, Beijing and Boston, 2013, pp.149-197.
- [22] Z.W. Sun, *Connections between $p = x^2 + 3y^2$ and Franel numbers*, J. Number Theory **133**(2013), 2914-2928.
- [23] Z.W. Sun, *Congruences for Franel numbers*, Adv. in Appl. Math. **51**(2013), 524-535.
- [24] W. Zudilin, *Ramanujan-type formulae for $1/\pi$: A second wind?* Modular Forms and String Duality, N. Yui, H. Verrill, and C.F. Doran (eds.), Fields Inst. Commun. Ser. **54**(2008), Amer. Math. Soc. & Fields Inst., 179-188.